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ik 116—224n+11227 24—-56m+28x2°  —S+14n—14x°
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— 1 X
X=j- F, X
L, =c,+C,X+C,X" +C X" i =1,2,3,4 (3.44)
, ¢ (Lbk=1234) w W x=(j-Dh x=13 x=jh{ x=0)

W,- Q. W. q ;

L@)=1 L&) = L,(0) = L¥O) =0
L¢)=-1 L,M=L,(00=LKO)=0
L,(0)=1 L,(1) =L¢D =L%0) =0
L¢O) =-1 L @O=L¢D=L,(0)=0 (3.45)
( 37
L, =3%-2x° L, =x*-x°
L=1- %> +2® L, =-x+2-%° (3.46)
Hermite -
w
w=L"a, (j- Dh£€ x£ jh (3.47)
L=[L L L, LT (3.484)
a; = [Wi-l’ hqj-l' Wi, hq]']T (3.48b)
dw _ 1 d’w 1 . :
&:-Euﬁaj dxzz-FLwaj (j-DhEXE jh (3.49)
. Rayleigh
L d’w dw
w,w] = & [El 2+ P(—)?]dx
[ww]=qI (dxz) (dx)]
& n d’w,, dw, ,
-4 0 N ()" + P i
= éla}r Kj a, (350a)
]:
[Jirw, Jw] = y ek =§ ¢ mwdk=§ a] M (3.500)
= =1
El. P
K, =hd(h—;L«N+h—;L ¢ €)dx j=12-.n (3.51a)
M, :h(‘jmj LL T dx j=12--.n (3.51h)
, LC L X
, El =const. m=cong ,
L 1 2y, X
P(Y =Q MWz dz —EmV\fL (1- F) (3.52)
P, (X) :%mV\sz[l- (%)2(1' - x)?] 0EXE£1 (3.53)

39



(346)  (353) (351), :
612 6 -12 61 636 -3 -36 30

é u . 8 u
€6 4 -6 2V €3 4 -3 11U
K =Clé i+ Lwein{ L. dyze v
"hPe12 -6 12 -60 2 30" 'n 836 -3 36 -30
€6 2 -6 49 €3 1 -3 43
636 0 -36 60 672 -6 -72 -15(0
8 a é a
€9 6 0 -1V €6 18 6 -3V
P - a. L & 0} j=12.--,n (354a)
30n°836 0 36 -60 210n2672 6 72 150
e u e u
€6 -1 -6 2§ &15 -3 15 4 ¢
@56 22 54 -130
é a
€2 4 13 -3
j :m_Lg l:| 5 J :1’2’...,n
420n€54 13 156 -220
e u
§13 -3 -2 4§
(3.54b)
w(0) = W€0) =0, K, M, . , 6
(3.55)
£y Ay
[ --""'-P-j:’-2 -/’ - 2
”.,-KE - _.-"'ME
K= M = (1.55)
K?‘! 1-""- Mn-lf#
K?‘! Mn
35
( 38). B 33
.
), . :
351

40



w'(xy) =3 af;(xy)
j=1

» F,(xy)
o 1,
oXy
( 3.10). 1.2 3,
0 r,-
r, T P(XY) o
r P .
Cy(r- 1) +Cy(r- 1) +c(r-1)=0 (3.56b)
(3.56b) r:
L+Cl,+Clh &
I—,-:Cll Gl Csszéxiri (3.57)
Cl + C2 + CS i=1
L X = =123 (358)
[o]
ac
=1
(3.57) (3.58)
XX, + XX, + XX =X (3.59)
Y HYX tYX =Y (3.59b)
X, +X, %, =1 (3.59¢)
(3.59) :
61 1 liequ &l
u_ée,u
gxl X, X3 lj_éxlj (3.60)
g Y. Y:BeH EvyH
(3.60)
U el 1 1y el
ua_é a éu
gt el X Xay @Xl} (3.62)
e

Bl B, Y. Y.f &
: 1
Xl(x’ y)z_D[Xzya - XY, +(y2 - ys)X+(X3 - Xz)y]

%, (X, Y) :%[xsyl- XY + (Y - Y)X+ (X - %,)Y] (362)

41



1
X3(X, y): B[lez - XYt (y1 b yz)X+ (Xz - Xl)y]

D=(X,Y5 - X3¥2) + (%Y1 - X1 ¥s) + (%Y, - X,1) (3.63)
X, 0 X, s X o A
X=X » Y=¥ ' X1:1’ 7
X, =X, =0; , X=X, ,
Y=Y, s X, =1, X =%;=0;
X=%X:Y=Y; ’X3:1’X1:X2 =0.
L] 1! 2! 3!
(1,0,0). (0,1,0), (0,0,2) .
X (i =1,23) ( 311). .
2, 3 X, =0; 1,
X, =1; 2, 3 X, =C
X X0 X s
D=2A, A :
8363 . Xx =X, y=y(=1293,
(362 : Y
x=AL =123 (3.64)
A i P
( 312).
Xl’ X2’ X3
L] : o
L =X (=123 (3.65)
(
313). w(i=123
e
3
WX, X, %) =@ Liw =Lw,
i=1
(3.66)
T 1w
— (T +—T—)=-Imw
x( ‘Hx) ‘ﬂy(r ‘Hy)
D
TW_ o, TW_g ( J
ix iy
[ w] = & [wowi, (36)
e=1
-

42



[w. ], —TQ[(—) +< 1A
e ’ A o
(frw,frw) = & (/mw, )

m :
(/mw, /mw), = mQ) wW2dA,

(368)  (3.70), . (3.62).

(3.66),
Tw _ fw fix | Tw T, | Siw T
™ T Ix I X X X

1 qL7 L’

'

= 2A x - y3)+ﬂ—xz(y3' y1)+E(yl- Yo)IW
:ﬁbﬁ' Ys Ya- Y1 Vi- yz]We
CoTw_ w T Tw X L w T
oy T Ty X Ty X Ty
U AV I LA
= 2Ae[ﬂ x. (X5 - %, > X3)+'|1x3 (%, - x)]w
:K[XS' X, Xt X X %W,
(3.71) (3.68):
[w,w], =w ' K w,
K

e

eyz Y3 lﬁyz Y3 UT E‘)(3 - X LEXS X U
T .la L@ G
Ke = 4A2 q iaYs~ Vi LEy3 yl g e % ueX1 X3 U ydAe
0 L8Y, - VL EBY, - Y.H 8% - X BB, - X b
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